0. ANSWERS
EXERCISES
1. Olive & Spice
a)
Machine K Machine L
€ €
Cost of investment 130.000 140.000
Profits after deducting depreciation
Year 1 40.000 30.000
Year 2 25.000 40.000
Year 3 20.000 50.000
Year 4 15.000 60.000
100.000 180.000
Average annual profit 4 4
= 25.000 = 45.000
25.000 x 100 45.000 x 100
ARR (Accounting rate of return) 130.000 140.000
=19,23 % =32,14 %

b) H emyxeipnon Ba rpétrel va ayopdoel To pnxavnua L yiati divel Tn wnAdTEPN péon

aTTOd00N KEPOWV.

The business should purchase packing machine L since it yields the highest ARR




2. Olive Beta

a)
Machine A Machine B
Estimated Cumulative | Estimated Cumulative
Cash flows Cash flows | Cash flows | Cash flow
€ € € €
Year O (210.000) (210.000) (180.000) (180.000)
1 70.000 (140.000) 70.000 (110.000)
2 80.000 (60.000) 70.000 (40.000)
3 90.000 30.000 80.000 40.000
4 90.000 120.000 80.000 120.000
Payback period:2 years + Payback period: 2 years +
60.000/90.000x12= 40.000/80.000x12=
2 years and 8 months 2 years and 6 months
OR/
Estimated Cash flows Estimated Cash flows
€ €
Year 1 70.000 70.000
2 years 2 years
Year 2 80.000 20.000
Year 3 90.000 60*/90x12 80.000 40**/80x12
Year 4 90.000 80.000

*210.000-(70.000+80.000) **180.000-(70.000+70.000)

b) ©a avaAn@Bei 1o Project B yiati £xel pikpdTEPN TTEPIOSO ATTOTTANPWUNAG.
To Project B éxel Tepiodo atmoTTANPWHNG 2 €T KAl 6 YAVES EVW TO
Project A €xel TTEpiod0o ATTOTTANPWHNG 2 £TN KAl 8 YAVEG.

Project B should be undertaken because it has a shorter payback period
2 years and 6 months compared to Project A which has a payback period of
2 years and 8 months



3. Print express

Machine A
Estimated Cash flows Cumulative Cash flows
€ €
Year O (90.000) (90.000)
1 28.400 (61.600)
2 19.500 (42.100)
3 29.000 (13.100)
4 17.000 3.900
5 4.000 7.900
Payback period:3 years + 13.100/17.000x12=
2 years and 9* months
* to the nearest month
4. Sandra
a)
Year Cash flows Present Net present
value factor value
€ € €
0 (new) (10.000) 1 (10.000)
1 1.000* 0,909 909
2 1.800 0,826 1.486,8
3 2.500 0,751 1.877,5
4 3.200 0,683 2.185,6
5 3.500 0,621 2.173,5
NPV (1.367,6)

b) H Sandra dev TrpéTTel va eTevOUCEl TNV Pnxavn yiati autr n eTévouon divel
apvnTikA KaBapr Mapouoca Agia (NPV)

Sandra should not invest in the new molding machine. It would yield a negative Net
Present value

*revenue receipts — operating payments

Year 1 (4.000-3.000)
Year 2 (5.000-3.200)
Year 3 (6.000-.3.500)
Year 4 (7.000-.3.800)
Year 5 (7.500-.4.000)



5. Cavallies

a)
Year Cash flows | Presentvalue Net present value
factor
€ € €

0 (new) (50.000) 1 (50.000)

1 15.000 0,901 13.515

2 15.000 0,812 12.180

3 15.000 0,731 10.965

4 15.000 0,659 9.885

5 15.000 0,594 8.910
5.455

b) ATT6 olkovopIkAG AtTowng n €TTIXEipnon Ba TTPETTEl va avaAdpel To €pyo agou n

Mapouoa Agia cival BeTIKA.

On financial grounds Cavallies Ltd should go ahead with the project since it has a

positive NPV

6. Acro Ltd

a)i.

Payback period

YP
4,65 years
Or
4 years and 7,8 months

Ranking 3
(2eipa kararaéng)

WQ
2,72 years
Or
2 years and 8,6 months

1

XR
3,74 years
Or
3 years and 8,8 months

2




ii. Accounting rate of return

Méoa etioia ueAdovtikd kaBapd képdn (Annual Average Profits)

Méon anddoon (ARR) =

Profits = Cash flows - Depreciation

3.000

YP: ARR = —— X100 = 4,41%

68.000

WQ: ARR = -2 X100 = 7,35%
68.000

3.250

Apyikbd kdotog emévévong (Initial cost of investment)

XR: ARR = X100 = 4,78%
68.000
Workings:
Annual YP WQ XR
profits € € €
Year 1 |12.000 - 12.000*=0 25.000 - 20.000* = 5.000 | 18.000 - 15.000* = 3.000
Year 2 |10.000 - 12.000 = (2.000) | 25.000 - 20.000 =5.000 | 18.000 - 15.000 = 3.000
Year 3 | 15.000 - 12.000 = 3.000 25.000 - 20.000 =5.000 | 18.000 - 15.000 = 3.000
Year 4 | 18.000 - 12.000 = 6.000 Total 15.000 | 19-000 - 15.000 =4.000
Year 5 |20.000 - 12.000 = 8.000 Total 13.000

Total 15.000

Aver.15.000/5 = 3.000

Aver.15.000/3 = 5.000

Aver.13.000/4 = 3.250

*Annual Depn = 12.000
(68.000 - 8.000):5

*Annual Depn = 20.000
(68.000 - 8.000):3

*Annual Depn = 15.000
(68.000 - 8.000):4




YP WQ XR

Year | 8% Net cash Present | Net Cash Present | Net Cash Present
flow Value flow Value flow Value

€ € € € € €

0 |1,00 | (68.000) |(68.000)| (68.000) | (68.000) | (68.000) | (68.000)
1 (0926 | 12,000 | 11.112 | 25.000 23150 | 18.000 16.668
2 |0857| 10.000 8.570 25.000 21.425 | 18.000 15.426
3 0,794 | 15,000 11.910 | 33.000** | 2g.202 | 18.000 14.292
4 [0,735| 18.000 | 13.230 - - 27.000%* | 19.845

5 |0,681| 28.000* 19.068 - -
NPV (4.110) 2.777 (1.769)

*20.000 + 8.000
**25.000 + 8.000
***19.000 + 8.000

b) ©@a emAeyei To Project WQ yiaTi gival To €pyo he Tnv TaxuTepn TTePiodo

eTTaveioTTPagNG, €ival To Povo £pyo TTou divel BETIKA kaBapr TTapouca agia (NPV) kai

EXEI TNV UWNAOTEPN péon atrédoon (ARR).

Project WQ is the project with the fastest payback period, is the only project which gives

a positive NPV and it has the highest ARR so it should be the project chosen.




7. Doros Agapitos

a)
Year Net Cash flows* Discount factor Present value
€ €
0 (now) (12.000) 1,000 (12.000)
1 8.000 - 4.000 = 4000 0,909 3.636
2 8.500 - 5.000 = 3.500 0,826 2.891
3 7.000 - 4.000 = 3.000 0,751 2.253
4 5.000 - 3.000 = 2.000 0,683 1.366
5 3.000 - 1.000 = 2.000 0,621 1.242
Net Present Value (612)

* The cash inflows are calculated from the revenue receipts less revenue expenditure.

b) O Awpog dev Ba TTpéTTel va eTTeEVOUOCEI OTO VEO puNXavnua, yiati n Kabapn mapouoca
agia ival apvnTikr (XauNAOTEPN TOU PUNOEV).

Doros should not invest in the new machine as it will yield a negative Net Present
Value.




8. Dracon Ltd

a)
A
Year | 9% Net cash Present | Net Cash | pocant | Net Cash Present
flow value | flow value | flow Value
€ € € € € €
0 |1,00 (88.000) |(88.000) | (99.000) | (99.000) | (115.000) | (115.000)
1 |0917 | 44.000 40.348 | 47.000 43.099 | 50.000 45.850
2 10842 | 44000 37.048 | 47.000 39574 | 49.000 41.258
3 0,772 40.000 | 30.880 | 47.000 36.284 | 48.000 37.056
4 |0,708 | 40.000 | 28.320 | 45.000 | 31.860 | 44.000 31.152
NPV 48.596 51.817 40.316
b) O1dieubuvTég TTPETTEl VO ayopdoouv To dnxavnua B e1reidn divel Tnv
uwnAoTepn BeTikr) KaBapr Tmapouca agia (NPV).
The managers should purchase machine B because it gives the highest
positive NPV
9. Tamasos Tapestry Ltd
a)
Payback period
Machine W Machine Y Machine Z
3 years 2.56 years 4.01 years
Or Or
2 years and 6.8* 4 years and 1.2*
months months
Ranking: 2 1 3
*(5.800/10.300)x12 *(700/7.000)x12




b)

Discount _ _ _
Year factor Machine W Machine Y Machine Z
11%

0 1 (20.000) | (20.000) | (20.000) | (20.000) | (20.000) | (20.000)
1 0,901 7.000 6.307 6.000 5.406 4.000 3.604
2 0,812 7.000 5.684 8.200 | 6.658,4 4200 | 3.410,4
3 0,731 6.000 4.386| 10.300| 7.529,3 5.100| 3.728,1
4 0,659 6.000 3.954 800 527,2 6.000 3.954
5 0,593 1.500 889,5 800 474,4 7.000 4.151
5 0,593 2.000 1.186 1.000 593 500 296,5
NPV 2.406,5 1.188,3 (856)

c) Atré oikovopuikAg TTAeupdag n Tamasos Tapestry Ltd Ba TrpéTrel va €TTIAEEEN €iTE TNV
pnxavAi W ,n otroia divel ge peydAn diagopd atrd TIG UTTOAOITTEG UNXAVES , TNV WNAOTEPN
KaBapn Mapouoca Agia (NPV), 4 Tnv unxavn Y n otroia divel ettiong BTk KaBapn
Mapouoa Agia (xapnAéTepn atmd auth TNG unxavng W, katd €1.223,2 aAAd €xel TTioNng
KAl TNV CUVTONOTEPN TTEPIOOO ATTOTTANPWUAG.

On financial grounds Tamasos Tapestry Ltd should choose either machine W which
gives by far the highest NPV or machine Y which also yields a positive NPV (but lower
than machine W by €1.223) and it also has the shortest payback period.




10. Socrates and Son Ltd

a)
Year | 10%
Net cash flow Net Present Value
€ €

0 | 1,000 (700.000) (700.000)
1 0,909 350.000 318.150
2 0,826 220.000 181.720
3 0,751 190.000 142.690
4 0,683 120.000 81.960
5. 0,621 100.000 62.100
5. 0,621 100.000* 62.100

NPV 148.720

*scrap value

b. Payback period: 2, 68 years or 2 years and 8, 2 months*

*130/190 x 12

Net Cash flows- Dep’n

5.

350.000 - 120.000
220.000 - 120.000
190.000 - 120.000
120.000 - 120.000

100.000 - 120.000

Total profits

Average profits: 380.000:5

Profits
230.000

100.000

70.000
0

(20.000)

380.000

76.000**
10




Annual depreciation* = (700.000 - 100.000):5 years = 120.000
*Depreciation is calculated using the straight line method

**Or (350.000+220.000+190.000+120.000+100.000)-(700.000-100.000)

5 years
Annual Average Profits 76.000
ARR = —— ge Prof = x100 = 10, 86%
Initial cost of investment 700.000

Total net cash flows-Total Depn=Total profits
Total profits/no of years=average profits
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